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90,147 22.9 90,589 22.0
0 0.0 0 0.0
14 0.0 13 0.0
12,409 3.2 13,945 3.4
73,510 18.7 75,006 18.2
122,551 31.2 135,090 32.8
10,104 2.6 10,201 2.5
4,743 1.2 4,098 1.0
1,046 0.3 916 0.2
100 0.0 104 0.0
1,439 0.4 1,864 0.5
303 0.1 325 0.1
30,402 7.7 36,601 8.9
1,175 0.3 1,114 0.3
16,792 4.3 19,398 4.7
1,428 0.4 1,457 0.4
964 0.2 1,050 0.3
362 0.1 310 0.1
96 0.0 141 0.0
10,862 2.8 10,464 2.5
26,503 6.7 30,724 7.5
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3,266 0.8 2,406 0.6
1,418 0.4 1,551 0.4
3,617 0.9 4,094 1.0
3,862 1.0 4,132 1.0
155 0.0 182 0.0
182 0.0 190 0.0
89,743 22.8 92,248 22.4
1,152 0.3 1,084 0.3
1,526 0.4 1,551 0.4
260 0.1 268 0.1
1,900 0.5 1,814 0.4
23 0.0 15 0.0
393,234 100.0 411,623 100.0
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1,782 0.5 1,949 0.5
182,438 46.4 190,379 46.3
3,185 0.8 3,817 0.9
2,681 0.7 2,662 0.6
1,492 0.4 1,942 0.5
5,552 1.4 5,462 1.3
2,096 0.5 1,923 0.5
4,963 1.3 5,915 1.4
70 0.0 72 0.0
4,477 1.1 3,393 0.8
203 0.1 99 0.0
37 0.0 43 0.0
7,684 2.0 9,044 2.2
4,545 1.2 4,273 1.0
16,249 4.1 17,037 4.1
55,365 14.1 59,246 14.4
89,799 22.8 88,977 21.6
211 0.1 200 0.0
10,406 2.6 15,190 3.7
393,234 100.0 411,623 100.0
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t t t t
714 1,076 682 ST7
14,177 16,869 15,751 12,414
984 1,123 150 200
674 916 140 142
433 386 83 112
1,488 1,677 2,459 1,999
1,052 1,162 177 114
2,227 3,414 476 431
9 15 18 20
1,394 1,637 309 261
53 45 10 16
4 13 23 21
6,366 7,907 1,202 1,007
2,021 2,457 2,353 1,631
12,785 14,908 3,163 2,053
46,686 53,015 7,946 5,716
84,729 83,461 1,618 2,050
160 120 25 34
5,921 11,129 2,976 1,642




